Exam 1 Calculus 3 9/18/2002

Each problem is worth 10 points. Show adequate justification for full credit. Please circle all
answers and keep your work as legible as possible. All warrantees void in case of improper use.

J 1. Write the first four terms of the sequence { E-z—l} .
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J 2. Write the first four partial sums of the series Z n_~21 :
n=1 1

S = 0 The vard ol Survs (‘, B
g " %
Sa % i+ \l&()q euﬁk EriQre>>ve Qg .
- et il | S R =)
i
e
*?___,.:1—-—"——— 5“n:‘3‘ﬂ*qn~x,*”-ﬂ-;x ;

3. Give an example of a series which is convergent but not absolutely convergent.
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4. Determine whether the series

converges or diverges.

2/ ]
h72 -
% < pos W T OB
" +ost
= 585
n®sin ne
; i . mnx!fmﬁ 44|
] AN g cov:u_f +
n% = p%

S. Determine whether the series Z G, converges or diverges.
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6. Determine whether the series Z Ez_ converges or diverges. : |
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7. Write the third degree Taylor polynomial for the function f(x)=In x centered at a=2.
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8. Chaz is a calculus student at Enormous State University, and he’s having trouble with series.
Chaz says “Ya know, I used to be pretty good at math, but this series crap is just outta control.
What’s up with this thing where you do a bunch of work, and it turns out it’s no good? Like with
that ratio test thing, you know? You do it, and you get 1, and they say that means you have to try
something else. It’s like it’s just a conspiracy or something, because I did it for that one over n
squared series, and it was like a total waste of time, and the series converges anyway. So why the

heck don’t they just say if you get 1 from the ratio test, it’s gonna converge?”

Explain to Chaz, in terms he can understand, whether a 1 from the ratio test means that a series

converges or not.

A ‘( Q‘op\ -élie f‘o‘éfc @;56 "“«4’41\_5 01550 (U&{\[ /laé&r‘ns'

(¢s [l‘kt’ 0\5@‘4) Q éf'ue/Pa.[Se ?'-”356""" o"lcj 3‘66&‘9

f@o&éq [{ i e A reforn ,"é 66{ {5 YQU noth ‘.49
{

OV‘A € Means  ou anre 0\54"43 the ""f.‘i"ﬂ

Eithier way,

Qs wer - 9 (ver

Con el ensa e Mt Gst). Ta demonstrage chis  <lhaz

(<"0_Lf5 %‘2 c“'i’i"pﬁ c\nA 3665 q _{_Cfdﬂ o ('ﬂf‘. feSC,

[ :
Hawe.w' [ 44(‘0.# T JTVQ@CS
the raif, desd [ (N A
Bl PO e S
s e SR L
= il

Sl Gl ] e ratio Cest

——

Loc  canven :
}édt_'{ on J\o my”"(} bquUSQ ,‘é oy (A

-_—

& 521‘;65 e éﬂcw s Jffgeﬂt ) W&[/'

Aa
(i 74—;,/4 -

N7

"’tedms 406& 1y

b& 63”!‘;‘[3 Yau

tt(e ‘.
5@_"“6’ éLtr/Es Qr 4 senes e kaoe /s Caaﬁre,ani QA(J

boé il q_’ge 3.:_155 23 _( Froa

/

/



9.Find the radius of convergence of the power series Z (-1)
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10. Use the 6" degree polynormal for sm(xz) to approx1mate
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Extra Credit (ThIS problem can replace your Iowest other problem
the series 1+ Y + S+ Y+ o + Ko+ Ao+ Yir+ Yoo+ You+ Yo+

form 1 over all possible natural number exponents on 2 or 3
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, where the terms are of the
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